

Informazione Regolamentata n. 20250-87-2025

Data/Ora Inizio Diffusione 27 Ottobre 2025 17:45:03

Euronext Milan

Societa': TECHNOPROBE

Identificativo Informazione

Regolamentata

211240

Utenza - referente : TECHNOPROBEN04 - Di Terlizzi

Tipologia : REGEM

Data/Ora Ricezione : 27 Ottobre 2025 17:45:03

Data/Ora Inizio Diffusione : 27 Ottobre 2025 17:45:03

Oggetto : Weekly press release on treasury shares

buyback plan

Testo del comunicato

Vedi allegato









PRESS RELEASE

WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). October 27, 2025 - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "Company" or "Technoprobe") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from October 20, 2025 to October 24, 2025, of n. 148,000 ordinary shares (equal to 0.02265% of the share capital) at the weighted average price of Euro 8.82363 for a total value of EUR 1,307,785.14.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
20/10/2025	0	///	///
21/10/2025	0	///	///
22/10/2025	103,000	8.85618	912,186.54
23/10/2025	45,000	8.79108	395,599.60
24/10/2025	0	///	///

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at October 24, 2025 the Company owns no. 11,062,872 ordinary shares (equal to 1,69348% of the share capital).

This press release is available on Technoprobe's website https://www.technoprobe.com in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).









Contact

Technoprobe S.p.A.

Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

Technoprobe Group

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com









Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZIIW7W	22/10/2025	15:32:38	Buy	IT.ico	MTA	TPRO	8.885	107	950.695
1ZAZIIW7X	22/10/2025	15:32:38	Buy	IT.ico	MTA	TPRO	8.89	694	6169.66
1ZAZIIW7Y	22/10/2025	15:32:38	Buy	IT.ico	MTA	TPRO	8.89	6,310	56095.9
1ZAZIIW7Z	22/10/2025	15:32:38	Buy	IT.ico	MTA	TPRO	8.89	297	2640.33
1ZAZIIW80	22/10/2025	15:32:38	Buy	IT.ico	MTA	TPRO	8.89	2,592	23042.88
1ZAZIIZDD	22/10/2025	16:43:42	Buy	IT.ico	MTA	TPRO	8.83	200	1766
1ZAZIIZDI	22/10/2025	16:43:50	Buy	IT.ico	MTA	TPRO	8.83	1,494	13192.02
1ZAZIIZDL	22/10/2025	16:43:52	Buy	IT.ico	MTA	TPRO	8.835	375	3313.125
1ZAZIIZDM	22/10/2025	16:43:52	Buy	IT.ico	MTA	TPRO	8.84	125	1105
1ZAZIIZDN	22/10/2025	16:43:52	Buy	IT.ico	MTA	TPRO	8.84	128	1131.52
1ZAZIIZDO	22/10/2025	16:43:52	Buy	IT.ico	MTA	TPRO	8.84	4,372	38648.48
1ZAZIIZEC	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.85	136	1203.6
1ZAZIIZED	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.85	296	2619.6
1ZAZIIZEE	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.85	938	8301.3
1ZAZIIZEF	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.855	296	2621.08
1ZAZIIZEG	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.855	125	1106.875
1ZAZIIZEH	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.855	131	1160.005
1ZAZIIZEI	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.855	618	5472.39
1ZAZIIZEJ	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.855	200	1771
1ZAZIIZEK	22/10/2025	16:44:06	Buy	IT.ico	MTA	TPRO	8.855	7,260	64287.3
1ZAZIIZEM	22/10/2025	16:44:07	Buy	IT.ico	MTA	TPRO	8.83	1,702	15028.66
1ZAZIIZEN	22/10/2025	16:44:07	Buy	IT.ico	MTA	TPRO	8.83	802	7081.66
1ZAZIIZEO	22/10/2025	16:44:07	Buy	IT.ico	MTA	TPRO	8.83	802	7081.66
1ZAZIIZEZ	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.83	200	1766
1ZAZIIZF0	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.83	147	1298.01
1ZAZIIZF1	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.835	147	1298.745
1ZAZIIZF2	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.835	134	1183.89
1ZAZIIZF3	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.835	127	1122.045
1ZAZIIZF4	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.835	666	5884.11
1ZAZIIZF5	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.84	200	1768
1ZAZIIZF6	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.84	137	1211.08
1ZAZIIZF7	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.84	116	1025.44
1ZAZIIZF8	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.84	587	5189.08
1ZAZIIZF9	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.84	297	2625.48
1ZAZIIZFA	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.845	129	1141.005
1ZAZIIZFB	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.845	647	5722.715









1ZAZIIZFC	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.845	117	1034.865
1ZAZIIZFD	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.845	297	2626.965
			,						
1ZAZIIZFE	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.85	133	1177.05
1ZAZIIZFF	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.85	296	2619.6
1ZAZIIZFG	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.85	697	6168.45
1ZAZIIZFH	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.85	700	6195
1ZAZIIZFI	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.85	1,210	10708.5
1ZAZIIZFJ	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.85	620	5487
1ZAZIIZFK	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.855	296	2621.08
1ZAZIIZFL	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.855	629	5569.795
1ZAZIIZFM	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.855	2,000	17710
1ZAZIIZFN	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.86	129	1142.94
1ZAZIIZFO	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.86	601	5324.86
1ZAZIIZFP	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.86	296	2622.56
1ZAZIIZFQ	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.865	297	2632.905
1ZAZIIZFR	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.865	122	1081.53
1ZAZIIZFS	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.865	682	6045.93
1ZAZIIZFT	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.87	684	6067.08
1ZAZIIZFU	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.87	296	2625.52
1ZAZIIZFV	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.87	2,000	17740
1ZAZIIZFW	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.87	5,550	49228.5
1ZAZIIZFX	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.87	5,667	50266.29
1ZAZIIZFY	22/10/2025	16:44:21	Buy	IT.ico	MTA	TPRO	8.87	3,147	27913.89
1ZAZIIZGQ	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.82	5	44.1
1ZAZIIZGR	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.825	40	353
1ZAZIIZGS	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.825	138	1217.85
1ZAZIIZGT	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.825	129	1138.425
1ZAZIIZGU	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.83	200	1766
1ZAZIIZGV	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.83	140	1236.2
1ZAZIIZGW	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.83	119	1050.77
1ZAZIIZGX	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.83	129	1139.07
1ZAZIIZGY	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.83	296	2613.68
1ZAZIIZGZ	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.835	115	1016.025
1ZAZIIZH0	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.835	118	1042.53
1ZAZIIZH1	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.835	296	2615.16
1ZAZIIZH2	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.84	200	1768
1ZAZIIZH3	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.84	116	1025.44
1ZAZIIZH4	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.84	117	1034.28









1ZAZIIZH5	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.84	297	2625.48
1ZAZIIZH6	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.84	656	5799.04
1ZAZIIZH7	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.845	297	2626.965
1ZAZIIZH8	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.845	2,000	17690
1ZAZIIZH9	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.85	129	1141.65
1ZAZIIZHA	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.85	214	1893.9
1ZAZIIZHB	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.85	296	2619.6
1ZAZIIZHC	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.855	214	1894.97
1ZAZIIZHD	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.855	296	2621.08
1ZAZIIZHE	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.86	122	1080.92
1ZAZIIZHF	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.86	214	1896.04
1ZAZIIZHG	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.86	296	2622.56
1ZAZIIZHH	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.865	200	1773
1ZAZIIZHI	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.865	297	2632.905
1ZAZIIZHJ	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.865	2,000	17730
1ZAZIIZHK	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.87	2,768	24552.16
1ZAZIIZHL	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.87	4,450	39471.5
1ZAZIIZHM	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.87	4,333	38433.71
1ZAZIIZHN	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.87	296	2625.52
1ZAZIIZHO	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.87	4,085	36233.95
1ZAZIIZHP	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.87	2,007	17802.09
1ZAZIIZHQ	22/10/2025	16:44:32	Buy	IT.ico	MTA	TPRO	8.87	2,375	21066.25
1ZAZIIZII	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.81	139	1224.59
1ZAZIIZIJ	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.815	95	837.425
1ZAZIIZIK	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.815	139	1225.285
1ZAZIIZIL	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.815	119	1048.985
1ZAZIIZIM	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.815	132	1163.58
1ZAZIIZIN	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.82	200	1764
1ZAZIIZIO	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.82	132	1164.24
1ZAZIIZIP	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.82	126	1111.32
1ZAZIIZIQ	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.82	1,467	12938.94
1ZAZIIZIR	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.82	1,267	11174.94
1ZAZIIZIS	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.82	282	2487.24
1ZAZIIZIT	22/10/2025	16:44:46	Buy	IT.ico	MTA	TPRO	8.82	267	2354.94
1ZAZIIZIU	22/10/2025	16:44:48	Buy	IT.ico	MTA	TPRO	8.82	5,615	49524.3
1ZAZIIZIV	22/10/2025	16:44:51	Buy	IT.ico	MTA	TPRO	8.82	20	176.4
1ZAZIJ0SI	22/10/2025	17:22:01	Buy	IT.ico	MTA	TPRO	8.82	3,000	26460
1ZAZIJAH7	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.82	151	1331.82









12AZIJAHA	1ZAZIJAH8	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.825	200	1765
12AZIJAHA 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.825 670 5912.75 12AZIJAHB 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.83 156 1377.48 12AZIJAHC 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.83 66 582.78 12AZIJAHD 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.83 65 573.95 12AZIJAHE 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.83 65 573.95 12AZIJAHF 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.83 655 5871.95 12AZIJAHG 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.83 655 5871.95 12AZIJAHH 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.835 76 671.46 12AZIJAHH 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.835 667 5892.945 12AZIJAHH 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.835 667 5892.945 12AZIJAHJ 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 157 1387.88 12AZIJAHL 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 359 3173.56 12AZIJAHM 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 359 3173.56 12AZIJAHM 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 359 3173.56 12AZIJAHO 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 655 5790.2 12AZIJAHO 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 655 5790.2 12AZIJAHO 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 866 7665.44 12AZIJAHO 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 866 7665.44 12AZIJAHO 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 4.511 3987.24 12AZIJAHO 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 4.511 3987.24 12AZIJAHO 23/10/2025 11:12:55 Buy Tileo MTA TPRO 8.84 616 5445.44 12AZIJAHO 23/10/2025 14:22:24 Buy Tileo MTA TPRO 8.755 693 5717.015 12AZIJAHO 23/10/2025 14:22:24 Buy Tileo MTA TPRO 8.765 399 3143.045 12AZIJAHO 23/1				,						
12AZIJAHB				,						
12AZIJAHC 23/10/2025										
		23/10/2025	11:12:55	,						
Tazijahe 23/10/2025	1ZAZIJAHD				IT.ico			8.83	65	
12AZIJAHF				,						
12AZIJAHH 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.835 64 565.44 12AZIJAHI 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.835 667 5892.945 12AZIJAHJ 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.835 359 3171.765 12AZIJAHK 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 157 1387.88 12AZIJAHL 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 359 3173.56 12AZIJAHM 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 75 663 12AZIJAHN 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 655 5790.2 12AZIJAHO 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 75 663 12AZIJAHO 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 795 7027.8 12AZIJAHO 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 866 7655.44 12AZIJAHO 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHS 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHT 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHU 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHU 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHU 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.755 98 857.99 12AZIJAHU 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.755 359 3143.045 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.755 359 3143.045 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.765 163 5717.015 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.765 163 5717.015 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.76 99 867.42 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.76 99 867.24 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.76 99 867.24 12AZIJA	1ZAZIJAHF			Buy	IT.ico	MTA		8.83	665	5871.95
12AZIJAHH 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.835 64 565.44 12AZIJAHI 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.835 667 5892.945 12AZIJAHJ 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.835 359 3171.765 12AZIJAHK 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 157 1387.88 12AZIJAHL 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 359 3173.56 12AZIJAHM 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 75 663 12AZIJAHN 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 655 5790.2 12AZIJAHO 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 75 663 12AZIJAHO 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 795 7027.8 12AZIJAHO 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 866 7655.44 12AZIJAHO 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHS 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHT 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHU 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHU 23/10/2025 11:12:55 Buy IT.lico MTA TPRO 8.84 4.511 39877.24 12AZIJAHU 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.755 98 857.99 12AZIJAHU 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.755 359 3143.045 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.755 359 3143.045 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.765 163 5717.015 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.765 163 5717.015 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.76 99 867.42 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.76 99 867.24 12AZIJAHMY 23/10/2025 14:22:24 Buy IT.lico MTA TPRO 8.76 99 867.24 12AZIJA	1ZAZIJAHG	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.835	76	671.46
12AZIJAHJ 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.835 359 3171.765 12AZIJAHK 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 157 1387.88 12AZIJAHL 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 359 3173.56 12AZIJAHM 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 75 663 12AZIJAHN 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 655 5790.2 12AZIJAHO 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 2,100 18564 12AZIJAHP 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 795 7027.8 12AZIJAHQ 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4.511 39877.24 12AZIJAHR 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4.511 39877.24 12AZIJAHR 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4.511 39877.24 12AZIJAHT 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4.511 39877.24 12AZIJAHU 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4.516 5445.44 12AZIJAHU 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4.516 5445.44 12AZIJAHU 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 200 1751 12AZIJEMV 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 12AZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 359 3143.045 12AZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 71 621.605 12AZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3143.045 12AZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3143.045 12AZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 99 867.24 12AZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 99 867.24 12AZIJEMO 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 99 867.24 12AZIJEMO 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 90	1ZAZIJAHH	23/10/2025	11:12:55	Buy	IT.ico	MTA		8.835	64	565.44
12AZIJAHK	1ZAZIJAHI	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.835	667	5892.945
Tazijahl	1ZAZIJAHJ	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.835	359	3171.765
Tazijahn	1ZAZIJAHK	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	157	1387.88
Tazijahn	1ZAZIJAHL	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	359	3173.56
TAZIJAHO 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 2,100 18564	1ZAZIJAHM	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	75	663
TAZIJAHP 23/10/2025	1ZAZIJAHN	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	655	5790.2
Tazijahq 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 866 7655.44	1ZAZIJAHO	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	2,100	18564
IZAZIJAHR 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4,511 39877.24 IZAZIJAHS 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 616 5445.44 IZAZIJAHT 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 1,206 10661.04 IZAZIJAHU 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4 35.36 IZAZIJEMT 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 200 1751 IZAZIJEMU 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 IZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 359 3143.045 IZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 1,615 14139.33	1ZAZIJAHP	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	795	7027.8
TZAZIJAHS 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 616 5445.44 TZAZIJAHT 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 1,206 10661.04 TZAZIJAHU 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4 35.36 TZAZIJEMT 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 200 1751 TZAZIJEMU 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 TZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 TZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 71 621.605 TZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 1,615 14139.33 <th>1ZAZIJAHQ</th> <th>23/10/2025</th> <th>11:12:55</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>8.84</th> <th>866</th> <th>7655.44</th>	1ZAZIJAHQ	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	866	7655.44
IZAZIJAHT 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 1,206 10661.04 IZAZIJAHU 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4 35.36 IZAZIJEMT 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 200 1751 IZAZIJEMU 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 IZAZIJEMV 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 653 5717.015 IZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 359 3143.045 IZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 1,615 14139.33 IZAZIJENZ 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6	1ZAZIJAHR	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	4,511	39877.24
IZAZIJAHU 23/10/2025 11:12:55 Buy IT.ico MTA TPRO 8.84 4 35:36 IZAZIJEMT 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 200 1751 IZAZIJEMU 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 IZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 IZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 653 5717.015 IZAZIJEMX 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 71 621.605 IZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 1,615 14139.33 IZAZIJEND 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6	1ZAZIJAHS	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	616	5445.44
IZAZIJEMT 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 200 1751 IZAZIJEMU 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 IZAZIJEMV 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 653 5717.015 IZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 359 3143.045 IZAZIJEMX 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 71 621.605 IZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 1,615 14139.33 IZAZIJENO 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6 IZAZIJENI 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 87 762.12	1ZAZIJAHT	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	1,206	10661.04
IZAZIJEMU 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 98 857.99 IZAZIJEMV 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 653 5717.015 IZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 359 3143.045 IZAZIJEMX 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 71 621.605 IZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 1,615 14139.33 IZAZIJEMZ 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6 IZAZIJEN1 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 87 762.12 IZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 200 1753	1ZAZIJAHU	23/10/2025	11:12:55	Buy	IT.ico	MTA	TPRO	8.84	4	35.36
1ZAZIJEMV 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 653 5717.015 1ZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 359 3143.045 1ZAZIJEMX 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 71 621.605 1ZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 1,615 14139.33 1ZAZIJEMZ 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6 1ZAZIJEN1 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 99 867.24 1ZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 359 3144.84 1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38	1ZAZIJEMT	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.755	200	1751
1ZAZIJEMW 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 359 3143.045 1ZAZIJEMX 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 71 621.605 1ZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 1,615 14139.33 1ZAZIJEMZ 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6 1ZAZIJENO 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 99 867.24 1ZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 87 762.12 1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 200 1753 1ZAZIJEN4 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 <th>1ZAZIJEMU</th> <th>23/10/2025</th> <th>14:22:24</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>8.755</th> <th>98</th> <th>857.99</th>	1ZAZIJEMU	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.755	98	857.99
1ZAZIJEMX 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 71 621.605 1ZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 1,615 14139.33 1ZAZIJEMZ 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6 1ZAZIJENO 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 99 867.24 1ZAZIJEN1 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 87 762.12 1ZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 359 3144.84 1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7 <th>1ZAZIJEMV</th> <th>23/10/2025</th> <th>14:22:24</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>8.755</th> <th>653</th> <th>5717.015</th>	1ZAZIJEMV	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.755	653	5717.015
1ZAZIJEMY 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.755 1,615 14139.33 1ZAZIJEMZ 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6 1ZAZIJEN0 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 99 867.24 1ZAZIJEN1 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 87 762.12 1ZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 359 3144.84 1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 200 1753 1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7	1ZAZIJEMW	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.755	359	3143.045
1ZAZIJEMZ 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 610 5343.6 1ZAZIJEN0 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 99 867.24 1ZAZIJEN1 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 87 762.12 1ZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 359 3144.84 1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 200 1753 1ZAZIJEN4 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7 1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3146.635 </th <th>1ZAZIJEMX</th> <th>23/10/2025</th> <th>14:22:24</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>8.755</th> <th>71</th> <th>621.605</th>	1ZAZIJEMX	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.755	71	621.605
1ZAZIJENO 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 99 867.24 1ZAZIJEN1 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 87 762.12 1ZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 359 3144.84 1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 200 1753 1ZAZIJEN4 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7 1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3146.635	1ZAZIJEMY	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.755	1,615	14139.33
1ZAZIJEN1 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 87 762.12 1ZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 359 3144.84 1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 200 1753 1ZAZIJEN4 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7 1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3146.635	1ZAZIJEMZ	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.76	610	5343.6
1ZAZIJEN2 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.76 359 3144.84 1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 200 1753 1ZAZIJEN4 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7 1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3146.635	1ZAZIJEN0	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.76	99	867.24
1ZAZIJEN3 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 200 1753 1ZAZIJEN4 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7 1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3146.635	1ZAZIJEN1	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.76	87	762.12
1ZAZIJEN4 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 92 806.38 1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7 1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3146.635	1ZAZIJEN2	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.76	359	3144.84
1ZAZIJEN5 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 180 1577.7 1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3146.635	1ZAZIJEN3	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.765	200	1753
1ZAZIJEN6 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 359 3146.635	1ZAZIJEN4	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.765	92	806.38
	1ZAZIJEN5	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.765	180	1577.7
1ZAZIJEN7 23/10/2025 14:22:24 Buy IT.ico MTA TPRO 8.765 648 5679.72	1ZAZIJEN6	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.765	359	3146.635
	1ZAZIJEN7	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.765	648	5679.72









1ZAZIJEN8	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.765	36	315.54
1ZAZIJEN9	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	5,550	48673.5
1ZAZIJENA	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	5,000	43850
1ZAZIJENB	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	359	3148.43
1ZAZIJENC	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	666	5840.82
1ZAZIJEND	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	5,000	43850
1ZAZIJENE	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	4,450	39026.5
1ZAZIJENF	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	1,725	15128.25
1ZAZIJENG	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	417	3657.09
1ZAZIJENH	23/10/2025	14:22:24	Buy	IT.ico	MTA	TPRO	8.77	1,167	10234.59

Fine Comunicato n.20250-87-2025

Numero di Pagine: 9